
a"^"l,,á,4^cAo, 
ť ffi,,,v))u,l- Ar nffi,u.ť

Pnn* Bot* rllq
rll x

tcčna k p,,rabolc
v bod,č 

, 
f= fú 1tz)

@ 
a,l,<c^o1n,, o. ' tLu

=)

=.)

tř:

r ll^X =) 
lx-,n) lrn 

-r*.) = p ( T t ̂  -2*)
r//x =r) Q-i l(tr-n| =p ( lat,r-!n )

h.t ^ ,u&A
3xz r3Lx  -4  r , /o t=' ( l

3( rL+ i l x )  = X- to7
3(x t  + ' l r x  +3d -  3 '3L

3 ' (  x 16 ) 2  =  , t 1 - t 0 t

/^"""1* 3x?+3Lx -4

^' orl, ar, *lr1t,r-11^'rJr"' rno],
3 (x+6)?  =/ j  l ,
u+qz" t\

-- 1-tor V. f+,oJr Zp t , P= t
a|t2 ď. 7-/,|. * L =oť 408

(r+d),= fu Í V= [-u,oJ l
P=t,rll,y ,d, 1=-3rJ
á 1-o+|.=p:)d: *J=-lL

@
ď:

+ 40t --o /u,:u,,,tfu ^* ,u}-.ť,,1,

flr(-n-t* n*r-'u't1r4 ,lnrr*(,o(g (x-t)r = -iUl
, e=ů
t: (x-z).(s-z) = t(7-ru +5o) ž jx-[ = .!h+sl) l . l  ž 6x-ne . ' ttL=o.

T)tůn, , l ,n  tň,*,u 9 - t ,+2t , -4 =o =) ta-4-1t"

T )un^'mo qunu.lnL ) ti = 2pt,,

o|^o,l^,,-, í L ,|,,W", natu'r'L+ cL. dn,^,L,l, ̂ týTu.(J)

t: = 2p-1pt,-
t i+f  pt7 - lp =Q

46P,+ď? =87Qr+a)=0

? =O *"rL*ý (/,u,7"^:/,,^1 4^-*(,,(^)t: = 1p(4-2t,) , )úao,.*, P t"A, 4
^tI1^^.(L,,v-'{,(.o iýd^.^,, n-|,,,-L-^ -

P,t,
CL)

b_1
e)

o{1
e)
ť)

z)

adh"d,,fu ,L,*,,h,,,,ůlwcIo^
2x,'n 3U'*'nxole 2+1-o 

o

1"-9, +Q = O
, '^rX'*\x-G2+43=O
f": tI '  *9 y +,12^tr -23 --O
x'-2x-5j+2=O
,rr1r-rZ '-3 =o
7x,+51,-4lx-402+4ů =o

a. ),"|^"^*L 4^, ̂ o ,l,!,ůo(,w, (^oln"|om, ) h^'

! y s=[-3,,1J,o=,Iď,b=Z,le=,ll, d 
(#),+ 

%!),= ,l _
!, V= Ll,oJ, P, J t F = [ ?,oJ t,l, x=o,, lt r, 4-,,iď* i,= + d,il
tó L-2t3J ,l,oď. (t+z).*rffi],
[al s =f,l,il, a= 31 L. lE,e=iE t "tv,"lil: $ť.- #t
|e) 

V = tl,$J, r=í, d,,1, - #,a ll,6,-ho^úď* k-|il,= s. (t- t)]
t a .S.=Io, ,tJ, n= 2, hna,ď,+u,* x,* (1-ů"= + J
L 21 ,|o*il^,ěet ryl*,;vt,ál, 4 k-t),+ S(Ťl)y -,)


